2k,

HEIRE

£
o
Q
o
Tor o
<0 2
OF g
e
>
[
(W]
1S
K| F
ofl (00| £
oF |00|w
oF
g8
< 5
00 &
Ko |sg
H_._ o] n,ﬂu
o H| 2
o | <5
7o wo | <F
o < |4
ur_umo =1
= 0O -
L KO
& i
._._-O O_”_
2 |3
S
B K
= |0
nd | od

o=
60 HH
|
TR
mr =<
110 7l
N

ar of
mEd

A

zo I

ol
i
of 41
10 O
u
of &

i
M4

ol Il
H~
__o_-n.u
0 ©
o &
1 0
1 |

&

th(42.6%),

51

I 7124 5(53.4%)

[

ool o
IRRA B E(62.8%)

St

=

k=13

oluch 66.9%0 ol2:

Ao o
olo] R7hx|3 BTl

NRASY SR 7MUY
A9

w7} Ao}

|

p .

S

5
E

(29.9%),

|

L.

£
B
50-60ch ol 4

FaYzte et

%‘.4

)

QA7 Y
AR

=
T

U] E] B(48.5%),

|

e o

l_.

o]
Ugtod,

50-60tH7} A]

(e}

, 2] AlSE(20.2%) AR UERIC)
T

=N

L .

o]
=

"t
2hn 2Agc
45

o

(28.2%) &+02 ZAFEICH

7t

_~
110

Ko

KO

§ooohMolA o5 smol 7

w 2o tfs

A
=2

|¥H

o}

ArOo.
O

o

g/]

ol
<|o
oF

=

L.

o]} e}
714 ol golc}. (2)

PSEa
o

oA "HAl oJRfY

o

o2

9

=

[e)

up2 o] x|
3%

’ O]L



= 20674

=

=

(A% AR

)
g
e
=1}
=
" |
| 1
k] ol 3 g 2
Ja) Al ) o N
0010 i il s sl 20 0 2 )
e FRARTRe 0 o
i wromoE o
L seceee O T (S -
i RORD Q0 H R RE o |
= g T = e
T 20000OQGGS i ~
| 3 £
n AT g
2 53 7
K &
i o
=) ol
_umﬂ Uy
4
ol o
fiss Bl
il 3
@ oju
m 1o
o w Ho4oow o mom gl
iy a @b o R
) A 1N < |
__lc = N ﬂ_ﬂ.ﬂ =
< rr W
5 = i =
w m 8 Mg
aw i W B
3 oo o= oo

200

150

100

50




‘LE el 0 R E NASHE U (374K 2 4 H) 0

=228
LS —159 (53.4%)
2Es 113 (37.9%)
7H3H| FHT 81 (27.2%)
YA HBAE G 89 (29.9%)
ZHSHBY R5E £ —33 (11.1%)
HE XD 5 —34 (1.4%)
xS T2z sy —127 (42 6%)
SEUEELE —16 (5:4%)
HPV(MSHE)EM H4  [_—12 (4%)
EONHERE —51(17.1%)
mEAEH2AE —57 (19.1%)
MRIE E2EZ1(0.3%)
SHTHE1(03%)
B35 — RESE RHRA.H1(03%)
7= $22 2ELETE |-1(03%)
ZAHOH MUS0| Lol B |-1(0.3%)
02| g2 527129 £54 |-1(03%)
TH1(03%)
ST EENHEAT H1(03%)
T 21 (03%)
R E Ry —1(03%}
HEn 25440 HED A 11 (0.3%)
BEST NE1(03%)
0 50 100 150 200
(Y] E2ZA e
= dExAs T 18N Ol =TS HYLR HESE=E7 T 2&5t=H 718
ZARH | LEst £70| Rolovk £ ABNMOZ motslol BF Mo FMYWE AW, 5

Ag 8NozE &
A |22 E
AN | ®BO| AFSHE B 18M~ 70M RUUGE02Y T4

[©)

\J

AR/ 2|12 | AxRSHE HEXE 0|88t 2EQIEAL 2022. 1. 9~ 1. 18( & 10€7hH

M.
r




